N = 0 &8 AFH Y & A AN
2018 & 20l & LBSH sSUHS
SN BUS
M. SUHS AL B
S FOUNXMAH WAS2E YL HYAEXS (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SUHs 333,261 389,056 A55,795
SUS A AL 215,800 246,000 A 30,200
FOXXAME HAS2E L HOYALXA 124,960 156,960 A 32,000
FOIXXAMEHESS 88,300 88,300 0
201 et A | 15,300 15,300 0
01 AFR2t2l Yl 15,300 15,300 0
OdHE2g Litx==H| 6,300,000 6,300
ORI+ 9,000,000& 9,000
301 dEtE A= 73,000 73,000 0
09 HAIAHI EA= 3,000 3,000 0
OFURNIAAS 908 L SHETNXSH A8
(12al) 100,000& *25H 2,500
OFXNEZz)H 24 500,000& 500
1M1 IIEtE &2 70,000 70,000 0
OZAIE=E 70,000,000& 70,000
FOIHEHOIAIE XA 36,660 50,260 A 13,600
201 Bt A | 34,460 35,060 A 600
01 AP 22l Yl 3,660 3,260 400
OFANRUEBHAAE 95 155,000& = 12& 1,860
OF AL HIE E bl 1,800,000& 1,800
02 35244l 30,800 31,800 A 1,000
OXES Xl (20H) 7,000,000& 7,000
OAtR 4l 2teldl 1,800,000& x12& 21,600
Oduter)| X228l (M S) 2,200,000 2,200
203 YR =&H| 2,200 2,200 0
03 Al Z=XIH L= XY| 2,200 2,200 0
OsUsS SHLRAIMFA 2,200,000& 2,200
ScletEess s 89,040 89,040 0
Sl Es2 AN 89,040 89,040 0
301 dEtE A= 89,040 89,040 0
BCSHE-0/& - -EtEes243 89,040 89,040 0
Os8&aY 200,000 »23H x12& 55,200
OS&EANW3 200,000& *23Y *23| 9,200
Os&Ag&dNY 20,0003 *23H x23| x12& 11,040
(@)= FSE="=—3:] 50,0003 x272Y * 13| 13,600
SEE =X g2 FX 1,800 0 1,800
S Atdl 22l At 1,800 0 1,800
202 (4] 1,800 0 1,800
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o9 ¥EY =X Y2 =2 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 2L Y] 1,800 0 1,800
OUEE EXNYR=X ] 1,800,000& 1,800
HMSAAH (BSUHSE) 117,461 143,056 N 25,595
ol (s Ss) 35,281 60,496 N25,215
XNMOIAHH (BUHS) 35,281 60,496 N25,215
101 2121 4| 35,281 60,496 N25,215
03 2IHAZZ2XHE %= 35,281 60,496 N25,215
OFAI22| 21822 (1"H) 35,281
-Jl23 1,212,120& =128 14,546
-A0 3 1,212, 120& 4 & 4,849
-A2tel =% 10,320 22 A 2tx12& 2,725
-5222x4 82,630& 2L x12& 1,984
-4 55,000& *52%= 2,865
AR asEIISTY 55,090& =10 551
a3 1,212, 1203 *12& x12% 1,746
- HZAH| 80,000& x12& 960
-WE B X 60,000& *12& 720
-HE S| 1,212, 120& *23| *60% 1,455
s 240,000& = 12& 2,880
Jl2HLI(sLHSsS) 82,180 82,560 A 380
Jl2ddl(sUs) 82,180 82,560 A 380
201 et A | 44,560 43,560 1,000
01 AR 22l ] 17,000 17,000 0
OFNMSI AR 22l ] 17,000,000& 17,000
02 35294l 27,560 26,560 1,000
OdIIe=2 18,000,000 18,000
Osd=ER=2 8,000,000& 8,000
OEso2Az7 A2l 65,000 +20~12& 1,560
202 04t 27,060 28,480 AN 1,420
01 2L Y| 27,060 28,480 N 1,420
OS8R+ oYl 2,100,000& 2,100
OJl2g24sidl (13Y) 24,960, 000& 24,960
203 & 2 =& 10,560 10,520 40
01 J|22H L R=AH| 7,000 7,000 0
OJ|H2gdgd=a| 7,000,000 7,000
02 BRI R = XIH| 560 520 40
OFJIArE R =X H| 40,000& *14Y 560
04 2SI L RF=AH| 3,000 3,000 0
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